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A) Besws.
A lincoar finction (or /m_e.) is onc of the form

ST,
L

the $_'Q_P£-) \‘H«e 9&!@@%{

o multinhcr.

2

(o,p) —<=——= - —— — =

X o XotAX X

COBL FACT obheit lines and rotes of cl\c..gz.:

Suﬂbow. )"-"-"‘(X)‘-"M)(-l-b is & |mecsr fonction. I‘C x chenges
b AX, then hrhpwwt\ ﬂ)csyctgc?

Well, sayy x aoes {:now\ Xo‘éo XD-I-A)(.TM&:, t
Dell say % g chonee ity

AV Z pewo v panus old
y = 'g(XQZAX)“‘(:(XaS Y
= M(xo+4)<)+6 —(ani-B)
= Xyt max +6 —mxp <b
= m 4AX,
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CONC—LUSION Far o lheor ‘Fuuctlc,p\ y:mx.{-b)
ay 15 alwoys proportioned to Ax:
¥

Ay=m4)<, or m= 4y .
4 x

Ll hecs thc'l:tous l\cWe. O- COh s‘fc.v\.'t ro:|'¢-:— o‘? c,kc.&c
AY/AX Wlﬂlc‘\ eitﬁ.(.s 'H\c. slot)e m. ﬂts 1% o sPc&tgg

]Dro P&P d‘? ' inco-.v pum:‘t lons, as wc'/[ see.

Exawp\c- LeJI' C &e—w‘}i fwfem:}we. ivs DC o.ug F
{:cm't)ac-“‘ure. i °F.

&Jka:}s the moltipher m m the ction 4 F-MAC?
(B it He e F e of Fudh remedt o €2
() T€ € decrssses by X C; by hows much &bos F change?
(&) ?Lﬁs;k rote Tof change of € sk Mfu-c:f

(@]

So[uﬁcu
() e have F =2 C*+33. The slope m is /s, o b
the coMct USION a.bove, q
4aF= & 5 al, Se '6[\‘, munPhcr ts /5.

(A) m*= /5 (orpar C)
(c,) AF*SAC 9 .¢-a)= "~ /
F decreases b '8/5:' 3.€°F:
f&) We solve for Z—
c-g(r-sa} %Sr 5__ ,;5_ ,_%_
So the_rote of change ch&t\ d to
Fis %4 (°C par °F)] =T
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B) Equehions for lines
(1) As obsve:

\/ = MX"'A s |orc-—m'&=\~¢e.f>'t @orw

Exﬂﬁ le .
Iine, theegh (0,2) caudl soch that rJaagas b
-3 fr eo.c,L u% wcreiase’ C:\ X, sl'\a.s ctuo:[’fo\!\ ‘1

y= -3 x+4.

(93 SO.. ou're W) 'H\c, o'( [« 8 /me. mQ o.
PO;{C‘:Y(XQ 7;) ::\\' [ ﬂiufzrmo.u’ o&_‘ }P::n‘(?
(x,\/\ oh the line,
M:ﬁ( :ﬁ:' or, 50'\/(:_'& 4’0:- \/)

= m(X-X5)*Vp | poumt- sle <, or
! ! Pm:he.( \l:o.lue., Corn.

E&QM%PE:_-[:(OZL& Iu»c 'éLnomt\ (" &,1)/ ua‘”x s[ofe L/} AO-S

Y = Y(x~(-3))+
= x+R+] = Hx+T.

(3) uTkub ths &é}cﬂuu\c a /mc. ?
If o line Po..ssas 'f(w?_\ﬁl« (xj,yg) o\n& (X;_))/z_), '(;Leu ‘)v.' the
l‘-\omf- s(oPc -Por W,

=M(X‘)<i\+ y Where m= J270 .\ tee- wmb, or
)I ’ Xa-Xyq w\{et‘%‘;’a‘\'tbh) ‘Pot‘w\
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(A.)c.:.k - F-Nﬂ&l.(, [/«15

E)&MF‘C.
The line '“\ra‘;n‘\ (3,5) ondl (l,l) hes slof)e.
b= 125 = 24 23]
-3 A

OJ\&QT‘OG' IO.V\
v = A(x- 3)+5
=Ax-6+5 = Ax-|.



